il

@ 8 B 12

20
32

3 6

® 4

@D 3




oA d7A & A=l gkm olaL, Ho A A=A o] A=l

Skan AT FAIF $AF F A B ke 2L ol AU

5 ER
=%



i
ld

® 0.1

® 0.02 3 0.04 @ 0.08

@D 0.01



& 59 2718 waste] O el >, <

4
081 O 5




o|
Tjlo
£3
Wl
<F
o_,_

Fol, [ otef gt

H719} o] Al4ts

5.

o _4 — __H_
8_4D_

3_83_7

+ o+

— |l - <




A2 A P, &E T2,




(1), (2), (3)°l AL 22 A2 HEoAQ.

7.

L]

X
™

]

X
<t

0
X
<t

| =~ o
=ls

<t

X

Il
oo
B

| [
M <o
=R

<ho







1
5

Wl =

-4
2




_2 — AN _

_3 D_QD_

6_7 _




11 o8 % 99 Bi47} obd 4 o Y7

@ 765 @ 3276 3@ 4887

@ 11126 3 50688






SHA 2.

=X

<
i

—_

oA ZE7F 35 %

Nfo

<
ald

T

Y

15 et A717}

21

13.






—r

Y

5

ol A £4E BE

O o
= i

15. o




16.

SAAS BT 5 B 3712 wastel [ ] o] 5,
ATHA HE oAl 2
| ! ! |
| ! ! |
0 1
| 1 ! |
| ! ! 1
0 1
e
3 4
o



17. o8 ZoA %9}37]7} 2 BaL oL

3 18
@1 @ﬂ ® — @



4

1

7/—10

-

458 7|FR4E bl o), 287} b 2L 4k of

742

3 0.4 @ 0.65 ® 0.9

® 0.3

D 0.25



A= T2

B =




20. A A} E 2 A0 75E 24,




21. o] Aele] 27} 39 A 2 4 S 7P 2 49] 42 o)
AlQ.

@D 392 @ 394 3) 396 @ 398 3 399



22. 136 3007149 24A4 Fol A 59] M4 53 70] ML B
A L WoelA) FotAlL.

B e 7R






24. 7} Gom, AR 15emQ] AR O] FolB of2] 4 olsol D
% ol T2 7V A AAZRE wEE T gt ofn) HA42te

1

Eou Fole 5 2 Aol

Y €

7}
i
=



g
Hjo

25. o gl A

ahol] B4 UERpAL L.

12
15



™






T 32717 g2 25 ol 227160 Hrt

7
8

4l



29.

A THEFA| &

5 2 opelgelY ¢ o] Bgisch



o] Hiol Hzlo] 2= 90 o] 11 oFE 5

25 oA 2

ol By}, ol

U\M—t



ol HUt}. olH

179

60 ©| 1, oFEstul

O
—

&

31. ol® 49 Rust Ao

A2

9

Qi
<+
g



= SOl 719

j=1

32. o

21
31

26
39

O]



ser vbEs Gl A 1249,

70
1 Kol Ok%
00 = 1]

33.

0
100

7 14 35
L 1—= 1—
10 ® 20 @ 50

@ 1



27F 2091 A2 oA ZfRes BF 2 AAGYR?

5]

1=
L

34.

A

b

C
=]



o
w
)

—
ife)

<
olJ
I
mjn

H

on
™
i

—
fife)

<+
ol
NI
mjn

il

njn

ald

ald



° (5 5

)
y

2”6
7

11
5
9’ 12



10 | 00






A



o|J

w22 Az v

oF
=),

e

olp

oy

(2) 0.65

(1) 14

13
" 20

2
5

®1



AlZE &)t RAL, A

2
5

=

=] oﬂ 2

7% of

A3k

24
35

@ 3



42, TFe2 Atstel J|orRS R ekl o), RRet BAko] G A0,

|
|
[S RN




<0
o

el
A

7

g

o %

1
A& 7-kg o)1, $HM 1 B

3

Utk 49 1 59 2AE 9 kg U7

o) 5

\3

>AO

&

wr} 3gkg =

kg



=
=

7N e olgch. At

AN

mr

E‘{

ma

!

n}

7} up

1
U 1—7
@ ,15H
5 g 13

i

1
— 7
15

@ we, 2oy

O £3H1

7
,_,15H

23t

[€)

15



45. 19e 21, @A @719l Aels A 2.

b
.P glite
@\\\\_ l _,/\’:\“ l —’,/
4gm 37gm &)
2 25 49
@B%m @5§lgm ®5im
@ 4-m ® 4—m






5
52
8

7
10—
® D +

11

37 %6
6

7
]=

Ty
12

@ 8
®7

13
20
3
5

+9
162
10+

ON]
@ 9



3 )
2yZ
16 54 6

1
4 )

Loy
8




@\\IF{E

5

L

Bof 4 & Hotal 24 5 &
of Hd5Ut od &

Hg of
o] e 2

1 1 =

Aol 24

TahAl S



2
of 914 A 12 1 7 Bekauh B ok u ALg T HeE:
B L g7

1
@2§L @251 @2§L

11 5
20



